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Define the time vector
= -2:0.001:3;

~+ o°
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Define the unit step function

c

o°

Define the signal x(t)
= @(t) 2xu(t + 1) — u(t - 2) — u(t - 3);

x

o°

Compute the odd part of x(t)
xo = @(t) (x(t) - x(-t)) / 2;

% Plot the odd part of the signal with argument (1-2t)
figure;

plot(t, xo(1-2%t), 'LineWidth', 1.5);

xlabel('t");

ylabel('x_o(1-2t)");

axis([-2 3 -1.25 1.25]1);

set(gca, 'XTick', -1:0.5:2, 'YTick', -1:0.5:1);

grid on;
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Define the time vector
= -17:0.001:5;

~+ o°

o°

Define the unit step function
= @(t) 1.0%(t >= 0);

o°

Define the signal x(t)
= @(t) 2xu(t + 1) — u(t - 2) — u(t - 3);
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Compute the even part of x(t)
11 xo = @(t) (x(t) + x(-t)) / 2;
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13 % Plot the even part of the signal with argument (2+t/3)

14 figure;

15 plot(t, xof
16 xlabel('t');

17 ylabel('x_o(2+t/3)");

18 axis([-17 5 -0.25 2.25]);

19 set(gca, 'XTick', -15:3:3, 'YTick', 0:0.5:2);
20 grid on;

2+t/3), 'LineWidth', 1.5);
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3. MATLAB Introduction:

(a) Get access to MATLAB (or some equivalent software package). See the course
outline for more information on this.

(b) Read the MATLAB overview in Section B.7 of your text.

(c¢) Plot the function z(t) = e~ ¥ cos(27t) using MATLAB.

(d) Compute the energy in z(¢) using MATLAB. Check your answer by hand. Does
they agree?

Remark: Always present all your simulations results in this course in a clear, concise
and professional manner. This means:

Provide the source code.

Title all plots and label all axes on all plots.

If more than one plot is on a single graph, supply a legend.

e e

Explain your results. Is it what you expect? Why? If not, why not?

An unexplained or unintelligible presentation will not be graded and will result in zero
credit.
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Homework #3
Problem 3 (c) and (d)
MATLAB R2025a

o o o o° o°

clc;
clear all;
close all;
10 clf;
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12 % part (c)

14 tFinal=10;

15 dt=0.01;

16 t=[0:dt:tFinall;

17 x=exp(-abs(t)).*xcos(2xpixt);

19 figure(1);

20 plot(t,x,'k-");

21 grid on;

22 xlabel('t');

23 ylabel('x(t)');

24 title('plot of the function x(t)');

26 % part (d)
27 —
28CE=sum(x.22)dt) — = -— ;i?k ELA/YY?(Z){’ ./\‘D_;) . ﬁk 6{,{7
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